
だから

1 7 5 ÷ 2 5 ＝

5

÷ ＝

2④ 1 7 5 ÷

1 8

だから

9 0 ÷ 1 8 ＝

÷ ＝

③ 9 0 ÷

＝ だから

2 0 0 ÷ 2 5 ＝

5

÷

2② 2 0 0 ÷

だから

2 1 0 ÷ 7 0 ＝

÷ ＝

日にち：　　月　　日

名まえ

 ・ わり算のせいしつを使って、くふうして計算しましょう。

① 2 1 0 ÷ 7 0

10

⑩ 仕上げ



7 だから

1 7 5 ÷ 2 5

7 0 0 ÷ 1 0

＝

2 0 0 ÷

＝

④ 1 7 5 ÷

1

5

7

0

＝ 8

2 5

2

だから5

8 だから

2 5

8

＝ 59 0 ÷ 1 8

1 0 ÷ 2 ＝

③ 9 0 ÷

8 0 1 ＝00 ÷ 0

② 2 0 0 ÷

0 ＝ 3

＝ 3

2 1 0 ÷ 7

2 1 ÷ 7 だから

日にち：　　月　　日

名まえ

 ・ わり算のせいしつを使って、くふうして計算しましょう。

① 2 1 0 ÷ 7 0

10

⑩ 仕上げ 答え

10でわる 10でわる

９でわる ９でわる

４倍 ４倍

４倍 ４倍


